o o2 9 T34 o9 fan fam © feansed I

A x 1. B fesadag
2. fifx feansed
3. Ji% feanseg

Question ID : 9744432456
Status : Answered
Chosen Option : 1

a5 a@mﬁﬁm%(componenm)ﬁﬁﬁWﬁﬂ?ﬁﬁmﬁﬂﬁ?
o FiReT Ed

2 I3

5. Mg

+ feoHsed

Question ID : 9744432455
Status : Answered

Chosen Option : 2

Q6 g fo wifes 22 =1 T WS (peak value) 141 V 3, 3 7ifEs 22 T RMS B o 32
Ans 1150V

2100V

3 111.36V

4. 850V

Question ID : 9744432435
Status : Answered
Chosen Option : 3
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Q7 Herd ¥ maftial fAReH €9 3 Gor yAidu 3, 37 nid 2 fRAeH & AHaT3d 9H €9 g6 &8 98 yHidy

Question ID : 9744432445
Status : Answered
Chosen Option : 3

Q8 Which of the following is the produced unity power factor in an AC circuit?
Ans 1. Resistive

2. Inductive

3. Both inductive and capacitive

4. Capacitive

Question ID : 9744432440
Status : Answered
Chosen Option : 3

Q9 Juat Aaact o It gt & faad Geraae § & fawacH Faae < Tanten AT 32
A

" v wifegs dhug = e 518 Jad
. dug 9oz & Jud
3. fueiy grgefad
+. fedbafed Heg

Question ID : 9744432430
Status : Answered
Chosen Option : 1

5 9 fge R 2saiea A difsar ol 7

Ans o1 oY
2. 250V
3. 25V
4 625V

Question ID : 9744432468
Status : Answered
Chosen Option: 3
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Q1 YWhat is the correct unit of electric power?

Ans 1. Newton
2. Newton-metre

3. Newton-metre per second

4. Newton-second per metre

Question ID : 9744432431
Status : Answered

Chosen Option : 2

-
Q.12 Schaffer’s method of artificial respiration is used when the victim has burns on the:

Ans 1. back
2. hands
3. legs

4. chest

Question ID : 9744432425
Status : Answered

Chosen Option : 4

VB st it 9 farom 9% Geads <A EGS fTed @ ¥ido fig T 2
ek st e fEare © H3fonrt e 9 meeRd Bt

x2.

FHiars e & 38w &9 Ageafsa Aafm fammer 3
5 J%3 & WTHTE] 518 Bt 7 Haw' J

4 FaTd Brelat fog oF Tu® wieH adl

Question ID : 9744432461
Status : Answered

Chosen Option : 2

M fidtsd gt & yagt g edaftfyE et e 3
Ans 1. 9

2. 3

35

4 4

Question ID : 9744432448
Status : Answered
Chosen Option : 2
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Q.15 o
faredl oo, faasdt ade = yse J|
Ane x 1. gadlt

Question ID : 9744432442
Status : Answered
Chosen Option : 4

Q18 i S rdfotias, thibig (ppe) @ Hefu i Jot Rifgui K2 far wig § wam@e

X1 RTE 8fa3 9=, Bt B Juie uig
2 1118 B3 J=, »ful <l Hdftm B (Asa/9m) g
3. friE Bfg3 I=, Hoftm B¢l SA HHI UG
+ T8 Bf3 9=, dat <l Hdfemn Hedl Ars € =9 94

Question ID : 9744432421
Status : Answered
Chosen Option : 4

o 2y JiHar eiAeaHa © WY BeH o U7

M X fosye yied 98 & fsuiE gan
2. WIBeYe YIEd 2dcd § femiH3 qaaT
3. IPTYR S8CH § [6WH3 Jda

+. Toaye 28cH § [66H3 Jd&

Question ID : 9744432453
Status : Answered
Chosen Option : 1
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Q.18 g 3 912 939 {28 Hedss daaed (stranded conductor) & Feuifem famit 4, 31 3t a3 9 daaedl =t
faredl faat a7

Ans 1. 6

218
3. 12
4. 24

Question ID : 9744432460
Status : Answered

Chosen Option: 3

Q.19 Which of the following switches is used when a lamp has to be controlled from more than two places?
Ans 1 One-way switch

2. Flush switch
¢ 3. Intermediate switch

4. Knife switch

Question ID : 9744432469
Status : Answered

Chosen Option : 3

Q20 it i el et @ Tt @ yiou T wiays fef e, viers Al 39 € e T S ol w I
Y39e5 9 UfoEi s dl Ima e waeT ?

Ans 12
21:1
31:4
41:8

Question ID : 9744432433
Status : Answered

Chosen Option : 1

Q21 :gServing’ of underground cable is made of:
Ans 1 paper

2. jute

3. enamel

4. mica

Question ID : 9744432466
Status : Answered
Chosen Option : 2
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Q.2

2 n s it o
MCCB T d¢3 dacn™ 3d 2 MCB T 384T feg g dl

Ans

Question ID : 9744432464
Status : Answered
Chosen Option : 1

Q.23 If a PMMC instrument having two terminals is connected across a resistor in circuit, then the instrument must be a/an:
Ansg 1. ammeter
2. energy meter

« 3. woltmeter
4. wattmeter

Question ID : 9744432450
Status : Answered

Chosen Option : 1

Q24 o it s wde (alternating current) T T 1T (peak value) 10 A Fd< d, 3t FoHeT 20 3 20 e
(amplituds) HJrgd dedr?

Ans 120 A
2 10A
5. 20A
4 ~10A

Question ID : 9744432436
Status : Answered

Chosen Option : 4

Q25 g Fefmr fifg als da1 w7 J 3t firg Jot ol 9 foam feamu § Tamger a7
Ane x 1. Tfhwr AfgE

2 g3l

3. JEHE

4 STHL

Question ID : 9744432423
Status : Answered
Chosen Option : 2
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Q.2

° ELCBs 3 fymi ot 2 97

Ans 1.3

2 5

3.2

4 4

Question ID : 9744432465
Status : Answered
Chosen Option : 1

Q.27

Had Holtp fdg s da1 ©r 3 3 ferer wiard fan 3§ & Jear?
Ans i 1 _@a_dq

2. ZgdIad

3 nffegTaTg

4 Jgreg

Question ID : 9744432424

Status : Answered

Chosen Option : 1

Q28 mfixon a8 T Jot ifgn 29 faodt yaz wdts f 3o At Adg ey I8 3 a2
ans 1. BT

2 nfigHfdar

> Ur3<| ug

“ J3dcd da

Question ID : 9744432467
Status : Answered

Chosen Option : 2

Q.2

? SETHT § &5 a6 BY Jo1 Rfgmi R faad fedt a3 2
A" X1 wid BBTHE A SIH3

2 Wife® 3998 enid A3

3.@553j1{ﬁg

‘. enfg SSTHIGTT

Question ID : 9744432447
Status : Answered
Chosen Option : 4
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Q30 pry Rzt CIHSTIHT © od JdH-HAHE W= IHfes © »iqid T 26 ddl

Question ID : 9744432446
Status : Answered
Chosen Option : 1

Q.31 150 f8q Fead W3 Y Hids 100 994 YT' 90%1 J, 3 159 ¥q0 YT 9dn fog St fami
gargd d=ar|

e x 11 A
2 0.02 HI3
3 0.1 Hfd3
“ 0.01 A3

Question ID : 9744432438
Status : Answered

Chosen Option : 4

Q.32 fHgE-30 THSTIHT 3 HdC AIaC THT 906 &Y Sale oic Hica! o HitpT < 5gEg I

Ans 1. 4

2.1

3.3

4. 2

Question ID : 9744432452
Status : Answered
Chosen Option : 4

Q.33

U&! [t e Tz feened y3font w1 args &df 07
e o e e

2. Y™y JH-gY"

3. Tepirer HH (uifontl) 39 o/H JdaT

4 PPE Tt oMl

Question ID : 9744432426
Status : Answered

Chosen Option : 4
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Q.34 Which of the following applications is correctly measured by the ‘MOG" device?

Ans 1. Measuring dielectric strength of insulation in a transformer
2. Oil pressure indication in a transformer

« 3. Oll level indication in a transformer

4. Measuring lamination thickness in a transformer

Question ID : 9744432454
Status : Answered

Chosen Option : 1

Q.35 For a pole mounted substation, in the *TPMO’ switch, the ‘T’ stands for which of the following?
Ans 1. Ti ghf

2. Triple

3. Tough

4. Three

Question ID : 9744432462
Status : Answered

Chosen Option : 2

Q38 iz am < e fweH feg Jot fufanit e famd I3 Sucn < fem e 2

" X e wds ¢ wis 2w
2 RMS oH =%aH
3 WEIH o <BcH
4 RMS &Tel5 ¢ BEls 28

Question ID : 9744432441
Status : Answered

Chosen Option : 2

Q37 2 i i A 28, wiofdal e gl < yEidu e du I Jg Ao 1 e 7
Ans ¢ 1. 2@{“‘[

2. 20 GOH

3. 5 QT

4 10 GUH

Question ID : 9744432443
Status : Answered

Chosen Option : 1
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** fg s W= (rfes 2o) B9, Jot R Y faga He
oK A3 U&= RMS 1B

2 WHI HS = -RMS 1S

3. WHZ HS < RMS H& (@i

* A3 AT =0

Question ID : 9744432437
Status : Answered
Chosen Option: 3

Q39 FifeRafed Hedd (dielectric strength) It fifani {2 fam s Fefuz 97
x0T M3 TER

2 YFidu yZidud w2 9%d

5. ydidu ydidud w3 fesged

+ UAed M3 fesg&ed

Question ID : 9744432428
Status : Answered
Chosen Option : 1

Q40 Foeft eaie® weH Tm fome §3urfes EMFI e Jer d, o 1 ada o 32

Ans

X i gal I8
2. grgdl yFidy
5 whegat ydiau
4 BZYFIdy

Question ID : 9744432432
Status : Answered
Chosen Option : 2
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U4 R 1 fiigg g Jla Jot Rt R forad Gegds wdls dilde § womGar &

Question ID : 9744432459

Status : Answered

Chosen Option : 1

Q42 what is the ratio of all currents I, ¢+ L :1;, according to the given figure?

Ans 1. 37:2:6
v26:3:2
3. 2:4:06
4. 1:2:3
Question ID : 9744432434
Status : Answered
Chosen Option : 2
Q.43

The given figure represents which of the following tvpes of air circuit breakers?

Fived
contact

e
—a

contact

Ans 1. Cross blast air circuit breaker

2. Radial blast air circuit breaker
3. Plain air circuit breaker

« 4 Axial blast air eircuit breaker

Question ID : 9744432463
Status : Answered
Chosen Option : 2
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Q.44 Which of the following devices (machines) does NOT convert energy from one form to another?
Ansg 1. Pump

« 2. Transformer
3. Generator

4. Motor
Question ID : 9744432451
Status : Answered
Chosen Option: 3
- - |
Q.45 dgq 33 9 i3 g fourd 9 939 AS 729 2 V ¥ EMF 9 21 Aage @1 9% 28er Harag T
+
Ans 1. 4\
21V
3.8V
4. 2N
Question ID : 9744432470
Status : Answered
Chosen Option : 3
Q.46 mflsan sust § firs 89 ufenti, cross linked polyethylene (SfaT fias Teiefdls) v ddu guH)
Ans 1. CLPE
2. XLE
3 XLP
4 XLPE

Question ID : 9744432457
Status : Answered
Chosen Option: 3

Q.4

" PMMC wiTa g P It fifanm 5 fag same 97
A" X 1. Pointer G;P"ITF@'Z’EI]

2. Permanent WHH‘?‘)'E)

3. Pivc:—t{ﬁ-l%?)

4 Peak (Ue)

Question ID : 9744432449
Status : Answered
Chosen Option : 4
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Q48 fqn Jadtas fisacs wdr Jo fefani iRy fam 3g1 w ureg gaed faafHz der d?
s B
2 dia

Question ID : 9744432439
Status : Answered

Chosen Option : 2

Q.49

Jat ffmit o faradt fet ugdt © yAdu & e adf o9 Aaet a2
v ! 3 T fedacs i3 WG &S

2 e fe¥adst § AHAIE3d 136 615

» fesady & gurdl cuge 5%

s UA UG 715

Ans

Question ID : 9744432444
Status : Answered

Chosen Option: 3

Q.50 Geads <nfias srls © ot fifgn 29 faaa wea/dide 9o 2 9as I 218 38 § ule 995 Be Aadl
gurd?

Ans 1. AITH-HTgHL
> HUHd
3 3Hd
+ fesE8ed

Question ID : 9744432458
Status : Answered
Chosen Option : 1

Section : Knowledge of Punjabi Grammar
Q.1 . .
& (@it fed faaa grs3 &
Ans X 1. 945
X2 W3

x 2 fadhiz

Question ID : 9744432473
Status : Answered
Chosen Option : 4

Page- 14




¥ o fefmifedndea S s
A X 1 3 HIE famr 3l

2 UgeT B famfT J|

3 Ut g3 fafr |

4. Had [J8 fapsr d|

** 3o Tt fd il mee o feadl HEe 9
Ans x1' EET

2. Hdd4d

3. dH9d

4. HH<

Question ID : 9744432490
Status : Answered
Chosen Option : 2

o IS (ST fed Yaur 7 T HHTS - »iddl 79T 9|
Ans 1. Aekhdl

ity
» )
4. ggr

Question ID : 9744432483
Status : Answered
Chosen Option : 4

** 3o fafimi fed At mEe A 9 791
Anex 1. fudisH

>yt

3. ‘!{B}{

i

Question ID : 9744432478
Status : Answered
Chosen Option : 4

Question ID : 9744432488
Status : Answered
Chosen Option: 3
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** 3 fofipt fed Irgr HET T NS - wighl HEC 9|
Ans 1 g

2. Ign

3 393

4. oTdld

Question ID : 9744432480

Status : Answered
Chosen Option : 1

Y Jo et § yaras;
Jgid

U ——

2.j§§§ﬁ§gj

3. Ekﬂ];ﬁgaj

o A g

Question ID : 9744432489
Status : Answered

Chosen Option : 1

** e HEs A feasu A
SRR RRES I
. HJ&T

2 J8

3. fggr

Ans

Question ID : 9744432477
Status : Answered

Chosen Option : 1

** 35 fafimi fed it mee A S w9
Ans ¢ 1 @g

2 Hp%
3 did
4. gf’d

Question ID : 9744432485
Status : Answered
Chosen Option : 1
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Q.10

I3 o fed Tt mee S IS aa|
X  gBed

Q.11

J6 fafim fog grac mav v feddl mae 98|
Ans k1 el
2. g

> Jad
4 FIGT

"yl mEs g feamy )
CUREESE: IGIE]
v 3

2. T

3 B

4. g

Ans

Q.13

s i fed g e v feddl mae 98
Ans 1. 9dd

2 Blg
3 Hien&
4.ﬂﬁy

Question ID : 9744432487
Status : Answered
Chosen Option : 2

Question ID : 9744432482
Status : Answered
Chosen Option : 3

Question ID : 9744432475
Status : Answered

Chosen Option : 1

Question ID : 9744432484
Status : Answered
Chosen Option : 4
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Q.14 sp e
s fefimit fed fagzgn gsa o
Ans | GETH
2 394"
3 HASS

4 T

Question ID : 9744432471
Status : Answered
Chosen Option : 1

Bl
L

" o fafipt fod fraar sl e
Ans < 1 ‘SIJBFl

2 o3

SAEGEE]

4. didid’d

U

Question ID : 9744432472
Status : Answered
Chosen Option : 1

% fofimit fod N HER TS _ e HEE g
Ans et

2. HSH

3. EﬂE!H

4 Hed

Question ID : 9744432481
Status : Answered
Chosen Option : 1

Question ID : 9744432476
Status : Answered
Chosen Option : 2
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" I fsfiprt fod mhy HER T AT - wigE HET 9

X 1. Hd
2. A9
3. Md&
‘e

Question ID : 9744432479
Status : Answered
Chosen Option : 2

" 5 fafimt fod faazr Star e
Ans x 1. BTI'-_U,

2. T

5 9153

4. Hadit

Question ID : 9744432474
Status : Answered
Chosen Option : 3

** Jo fafipt fed A TR A ST F9 |
Ans 1. AT

Question ID : 9744432486
Status : Answered
Chosen Option : 4

Section : General Knowledge about Punjab State Affairs

O g @ v 439 Y TR uigd wien ig i
7K o s e

X 2 giasar fud 9 arfed J i d

v 5 Hid Hge® 9 »i@y d 7w d

x4 AIBA g IB AT

Question ID : 9744432500
Status : Answered
Chosen Option: 3
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Q2 fqrg IS S 16 Wel 2022 & »ni fami wrufos yElsa fiegams g Hg el
e x 1. franfes feeas

> B fHigal

5 AJTedT ded

4 HJI3 TIHS

Question ID : 9744432492
Status : Answered

Chosen Option : 1

Q3 Jrearss Usi2022 fog Uarg 2 fda fugdt & giet r I fifgnr 97
Ans 1.9

2.9

3. 3

4 5

Question ID : 9744432494
Status : Answered

Chosen Option : 4

** Yot A et a2 mg 9 e
Ans 1. 1883

2. 1871

3. 1845

41819

Question ID : 9744432495
Status : Answered

Chosen Option : 4

Qs g 2 widfea AgeuE 2021-22 © WA Yt fE9 AE 2020-21 9 Js fafyni S fon o Gaums A 3
<y Hi?

Ans 1
v 1. faﬁ
3 B

Question ID : 9744432499
Status : Answered

Chosen Option : 1
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Q6 i Hgag & THETSS US1 2022 8 &H AT hige = fa SefBac BH 40 Ty IR 2 &R fgeds
ERI:ralciEl)

N EACTS|
2 gafited 99
3. gASlgdg
4 gufiied od

Ans

Question ID : 9744432493
Status : Answered
Chosen Option : 2

Q7 gz i g It Uama fears Hgr 9t (2022) 19 witd nierdl uigdl & fel et witet fiffmiie

Ans 171
2. 83
3. 100
4. 92

Question ID : 9744432491
Status : Answered
Chosen Option : 4

*® el g I fibert et 2 g3 ufded w3 ez 32
Ans x 1. Hia-faadt

2. Tl
5. T93-gadia
4 1gd- THfeH

Question ID : 9744432498
Status : Answered
Chosen Option : 3

Q9 v 3 rerfirnf] g R 1 Ja 13 ad iy, Erelara, F oD e el ool Wizt ot 35 et f47
foaa Bq & I3 gierde

x 1 gEi

Ans

> T
3 gaarr

+ B3l

Question ID : 9744432496
Status : Answered
Chosen Option : 2
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Q.10 . e iy s o n W
24 3 26 TR 2021 < 797 Jfde%g A2 ANSs fog dfemr
S i: IS

v > A80d
X 3 UfenaT
X 4 HIIAd

Question ID : 9744432497
Status : Answered
Chosen Option : 2

Section : Reasoning

Q1 e, Flo 910 Q1 gan, dlerw udl J) BEH, 990 w1 U= I Sde, B9 ¥ ST J| YR ¥ gds
&% o 780 7

Ans Y
2. T
5. e
4 gF

Question ID : 9744432502
Status : Answered
Chosen Option : 2

** faom Y39 i ol 30 B 6 Yy aoam

M

(X)

Ans 1. 1

Status : Answered
Chosen Option: 3

Question ID : 9744432505
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** St wifini R et w5t g s s () o Rt

12,36, 61, 87,114, ?
Ans 1. 176
2142
3134
4122

Question ID : 9744432510

Status : Answered

Chosen Option : 2

Q.4 i T, =y } i 2
3 are 39 39 <gar <1 o4& farest fdat d=afl?

Ans 1. 15

Question ID : 9744432509
Status : Answered

Chosen Option : 4

QS5 yprmm wg I e og aoe In3 e 2 10 Hiea Yaet 3, fag Qo Ty 9w 25 iea IEe 3, g
T, G Fid Hawl d »i= ed 33 udue & 15 Hieg Y8 91 @ wa 3 viea fan femr R 7
Ans s

X1 2HE
2. BI9-UgH
. §39-Yo
4 1gH

Question ID : 9744432501
Status : Answered
Chosen Option : 3
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Q.6

Ans

Had

R+STWIEY;R, ST Icd
R%S¥MIEY R, STH I
R& ST MIEU;R, ST Y3Td
R+ ST WIHY; R, ST YT

HIdK&L+M%N +0d, 3K, 0 &% fa= Agfuz I?
1. g
2. TIRETET
ERUEL
4. HTHHTHAZ

Question ID : 9744432503
Status : Answered
Chosen Option : 2

Q.7 g fiygg iz famr 3 i aove 10 Foamy 0| 77 85 TOUS AB TS © &5 ot e 3, 31 69 feamy

Ans

9, 1 3 29 2 7l voue yHifde 2 3a s figor geer 4=y

D)

x 3.

Ao 1

Question ID : 9744432507
Status : Answered
Chosen Option : 4
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Q8 &9 feamy 72 1 I v o5 87 39 = 3 i fy o we ufod we s iz 3
<941 [T 2 I 2

ans 1 g

2. WS

3. HI94

4.)ﬂﬁ%5;

Question ID : 9744432504
Status : Answered
Chosen Option : 1

R fiygg g faaet ©t of s farest fdst aafe

T
—

<]

Ans 1 12
2. 15
3. 10
4. 14

Question ID : 9744432508
Status : Answered
Chosen Option : 3

Page- 25



Q.10 iz fo=a i3 famr 9, fame g 919 feamy 08| 7% i Tou= XY Bie © o7& diuer 9w o, 31 §a feasy
9, 1 52 39 2 wdl vaue yFifde = figa o Hee geor a9

214 |

1 >
AHSMZIA
M <
P <
X |4
Yl
<|1
v4.IAX
< I

Question ID : 9744432506

Status : Answered

Chosen Option : 4

Section : Arithmetic

! AT x y T50% U, Ty EAEE T I
Ans X 1 50%

X 2. 150%

v 3 100%

X 4. 200%

Question ID : 9744432514

Status : Answered

Chosen Option : 1
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